

			Vendor Ranking		Page 1 of 1
Letting:	04241101	November 01, 2024 10:30 AM	Call Order: 005	Contract:	E4X65-R0
District:	District 4		Counties: DIST/ST-WIDE	Fed Aid No	b: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	42977467202 (*)
Contract Desc:	TREASURE	COAST PRIMARY ASPHALT	[REPAIR		

Rank	v Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TIMOTHY ROSE CONTRACTING, INC.	Responsive	Winning bid	\$418,376.68	100.00%
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$466,642.80	111.54%
3	C.W. ROBERTS CONTRACTING, INC.	Responsive	Non-Winning Bid	\$596,085.81	142.48%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	11/26/24	BEGIN TIME:	10:30 AM
	END DATE:	12/04/24	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 300,000.00 and not the contractor's bid total.



Page 1 of 8

Letting:	04241101	November 01, 2024	Call Order:	005	Contract: E4X65-R0
District:	District 4		Counties:	DIST/ST-WIDE	Fed Aid No: N/A
Contract Time:	365 CALEND	AR DAYS			Project(s): 42977467202 (*)

Contract Descr: TREASURE COAST PRIMARY ASPHALT REPAIR

The work under this Contract of all materials, labor, equipment and incidentals necessary to perform spot asphalt repair by milling and paving, placing pavement markings and the installation of traffic loops on State roads in Martin, St Lucie, and Indian River Counties.

The summary of pay items for this project is listed in the Bid Price Proposal.

ADVERTISED ESTIMATE The award amount and contract performance bond shall be based on the Department s advertised estimate amount of \$300,000.00 and not the contractor s bid total.

PERFORMANCE BOND A Contract / Performance bond is required for this project.

REQUIRED SUBMITTAL WITH BID Experience Form Asphalt Paving 850-070-01

PLEASE READ STANDARD SPECIFICATIONS FOR	R ROAD AND BRIDGE CONSTRUC	TION FY 2024-25 (SECTION 7-13)	
FOR INSURANCE LIMITS.			
			í

Line No / Item ID Item Description	Alternate	Quantity Units	(1) TIMOTHY ROSE CONTRACTING, INC.		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(3) C.W. ROBERTS CONTRACTING, INC.	
() indicates item is bio	l as Lump Sum		Unit Price	Ext Amount	LLO Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTION:	0001	(ASPHALT REF	PAIR (MECHANIC)	AL) (TN				
0005 0327 70 1 MILLING EXISTING AS PAVEMENT, 1" AVG D		400.000 SY	22.61000	9,044.00	30.00000	12,000.00	32.94000	13,176.00
0010 0327 70 4 MILLING EXISTING AS PAVEMENT, 3" AVG D		300.000 SY	24.50000	7,350.00	40.00000	12,000.00	48.37000	14,511.00
0015 0327 70 5 MILLING EXISTING AS PAVEMENT, 2" AVG D		300.000 SY	24.50000	7,350.00	40.00000	12,000.00	48.37000	14,511.00
0020 0327 70 6 MILLING EXISTING AS PAVEMENT, 1 1/2" AV		400.000 SY	22.61000	9,044.00	30.00000	12,000.00	32.94000	13,176.00



Page 2 of 8

Letting:	04241101	November 01, 2	2024 Ca l	l Order: 005		Contract:	E4X65-R0	
	/ Item ID Alterna	ate Quantity Units	(1) TIMOTHY ROSE CONTRACTING, INC.		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(3) C.W. ROBERTS CONTRACTING, INC.	
() indicate	es item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
MILLING EX	27 70 19 KISTING ASPHALT ⁻ , 3/4" AVG DEPTH	400.000 SY	22.61000	9,044.00	35.00000	14,000.00	32.94000	13,176.00
	34 113 /E ASPHALTIC CONC,	100.000 TN	369.58000	36,958.00	400.00000	40,000.00	574.08000	57,408.00
	34 153 /E ASPHALTIC CONCF , PG76-22	200.000 RETE, TN	427.68000	85,536.00	450.00000	90,000.00	575.41000	115,082.00
ASPHALT C	37 725 CONCRETE FRICTION NC BIT, FC-5, PG 76-2	100.000 TN 2	516.83000	51,683.00	450.00000	45,000.00	686.18000	68,618.00
ASPHALT C	37 7 82 CONCRETE FRICTION RAFFIC C, FC-9.5, PG	179.500 TN 76-22	411.01000	73,776.30	450.00000	80,775.00	682.74000	122,551.83
0050 04: MANHOLE,	25 5 ADJUST	15.000 EA	467.76000	7,016.40	500.00000	7,500.00	2,474.17000	37,112.55
	25 6 KES, ADJUST	7.000 EA	505.44000	3,538.08	100.00000	700.00	2,147.57000	15,032.99
	60 2101 EMBLY- F&I, TYPE A	1.000 AS	2,395.37000	2,395.37	5,000.00000	5,000.00	4,098.56000	4,098.56



Page 3 of 8

Letting:	04241101	November 01, 2	2024 Ca l	l Order: 005		Contract:	E4X65-R0		
Line No / I Item Desci		e Quantity Units	(1) TIMOTHY ROSE CONTRACTING, INC.		(2) ROGAR MAI CONSULTING	OF FLORIDA		(3) C.W. ROBERTS CONTRACTING, INC.	
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount	
SEC	CTION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN					
PAINTED PAV STANDARD, V	11102 /EMENT MARKINGS, WHITE, SOLID FOR GE AND URBAN ISLAN		2,587.00000	10,348.00	10.00000	40.00	2,634.79000	10,539.16	
PAINTED PAV STANDARD, V	11123 /Ement Markings, /hite, solid for And Roundabout		0.87000	261.00	1.00000	300.00	2.34000	702.00	
PAINTED PAV	11125 /EMENT MARKINGS, WHITE, SOLID FOR S SSWALK, 24"	200.000 LF STOP	1.85000	370.00	1.00000	200.00	3.51000	702.00	
PAINTED PAV STANDARD, V	11141 /EMENT MARKINGS, WHITE, 2-4 DOTTED 5-10 DOTTED EXTENS	4.000 GM SION,	598.85000	2,395.40	10.00000	40.00	995.37000	3,981.48	
PAINTED PAV	11160 /EMENT MARKINGS, WHITE, MESSAGE OI		81.66000	4,083.00	20.00000	1,000.00	64.41000	3,220.50	
PAINTED PAV	11170 /EMENT MARKINGS, /HITE, ARROWS	50.000 EA	65.33000	3,266.50	20.00000	1,000.00	58.55000	2,927.50	
PAINTED PAV STANDARD, Y	11224 /EMENT MARKINGS, /ELLOW, SOLID FOR R CHEVRON, 18"		1.42000	284.00	1.00000	200.00	2.93000	586.00	



Page 4 of 8

Letting:	04241101	November 01,	2024 Ca	Order: 005		Contract:	E4X65-R0		
Line No / Ite Item Descri		e Quantity Units	(1) TIMOTHY ROSE CONTRACTING, INC.		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA			(3) C.W. ROBERTS CONTRACTING, INC.	
() indicates it	em is bid as Lump Sum		Unit Price	Ext Amount	LL Unit Price	C Ext Amount	Unit Price	Ext Amount	
SEC	TION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN					
STANDARD, Y	11241 EMENT MARKINGS, ELLOW, 2-4 DOTTE 10 DOTTED EXTENS		598.85000	2,395.40	10.00000	40.00	995.37000	3,981.48	
	TIC, STANDARD, WH R CROSSWALK AND		6.53000	653.00	10.00000	1,000.00	4.40000	440.00	
	11124 TIC, STANDARD, WH R DIAGONALS AND	200.000 HITE, LF	7.62000	1,524.00	10.00000	2,000.00	6.62000	1,324.00	
	11125 TIC, STANDARD, WH R STOP LINE AND	200.000 HITE, LF	8.71000	1,742.00	10.00000	2,000.00	8.78000	1,756.00	
0120 0711 THERMOPLAS MESSAGE OR	TIC, STANDARD, WI	23.000 HITE, EA	217.76000	5,008.48	200.00000	4,600.00	351.30000	8,079.90	
0125 0711 THERMOPLAS ARROW	11170 TIC, STANDARD, WH	40.000 HITE, EA	108.88000	4,355.20	100.00000	4,000.00	204.93000	8,197.20	
	TIC, STANDARD, ID, 18" FOR DIAGON	190.000 LF AL	7.62000	1,447.80	10.00000	1,900.00	6.62000	1,257.80	



Page 5 of 8

Letting:	04241101	November 01, 2	2024 Cal	l Order: 005		Contract:	E4X65-R0	
	o / Item ID Alternate escription	e Quantity Units		(1) TIMOTHY ROSE CONTRACTING, INC.		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		ROBERTS TING, INC.
() indica	ates item is bid as Lump Sum		Unit Price	Ext Amount	LLC Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0135 0	711 12141	4.000	2,939.76000	11,759.04	2,000.00000	8,000.00	2,342.03000	9,368.12
WH I TE, 2-4	PLASTIC, REFURBISHME1 4 DOTTED GUIDELINE / ENSION, 6", MAINTENANC 7	6-10						
0140 0	711 12222	2,000.000	1.91000	3,820.00	1.50000	3,000.00	0.64000	1,280.00
	PLASTIC, REFURBISHME SOLID, 8" MAINTENANCE							
0145 0	711 12241	4.000	2,939.76000	11,759.04	3,000.00000	12,000.00	4,391.31000	17,565.24
YELLOW 2	PLASTIC, REFURBISHME1 2-4 DOTTED GUIDELINE/ ENSION, 6" MAINT USE O	6-10						
0150 0	711 14123	200.000	23.95000	4,790.00	22.00000	4,400.00	12.88000	2,576.00
	PLASTIC, PREFORMED, DLID, 12" FOR CROSSWA	LF ALK						
0155 0	711 14125	100.000	32.66000	3,266.00	29.00000	2,900.00	25.76000	2,576.00
	PLASTIC, PREFORMED, DLID, 24" FOR CROSSWA	LF ALK						
0160 0	711 17 1	340.000	5.44000	1,849.60	10.00000	3,400.00	5.86000	1,992.40
THERMOF	PLASTIC, REMOVE EXIST PLASTIC PAVEMENT S- SURFACE TO REMAIN							
0165 E	101 72	3.000	7,234.24000	21,702.72	2,000.00000	6,000.00	2,146.86000	6,440.58
MOBILIZA [:] RESPONS	TION (EMERGENCY SE)	EA						



Page 6 of 8

Letting:	04241101	November 01, 2	2024 Ca l	l Order: 005		Contract:	E4X65-R0	
Line No / It Item Desci		e Quantity Units	(1) TIMOTHY ROSE CONTRACTING, INC.		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(3) C.W. F CONTRAC	ROBERTS TING, INC.
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	LL Unit Price	C Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0170 E706 REFLECTIVE MARKER(REM REPLACE)(CL	PAVEMENT 10VE AND	1,000.000 EA	7.62000	7,620.00	5.00000	5,000.00	5.86000	5,860.00
PAINTED PAV	11121 EMENT MARKINGS, VHITE, SOLID, 6"	1,400.000 LF	0.54000	756.00	0.10000	140.00	0.50000	700.00
PAINTED PAV	11141 EMENT MARKINGS, VHITE, SKIP, 6"	1,400.000 LF	0.54000	756.00	0.10000	140.00	0.50000	700.00
PAINTED PAV	11221 EMENT MARKINGS, 'ELLOW, SOLID, 6"	1,400.000 LF	0.54000	756.00	0.10000	140.00	0.50000	700.00
PAINTED PAV	11241 EMENT MARKINGS, ÆLLOW, SKIP, 6"	1,400.000 LF	0.54000	756.00	0.10000	140.00	0.50000	700.00
	11121 STIC, STANDARD, WI	1,400.000 HITE, LF	1.42000	1,988.00	0.50000	700.00	1.70000	2,380.00
	11141 STIC, STANDARD, WI	1,400.000 HITE, LF	1.42000	1,988.00	0.50000	700.00	1.70000	2,380.00
	11221 STIC, STANDARD, .ID, 6"	1,375.600 LF	1.42000	1,953.35	0.50000	687.80	1.70000	2,338.52



Page 7 of 8

Letting:	042411	01 No	vember 01,	2024	Call Orc	ler: 005		Contract:	E4X65-R0	
	lo / Item ID /	Alternate	Quantity Units		TIMOTHY RO		(2) ROGAR MA CONSULTING		• • •	ROBERTS CTING, INC.
	cates item is bid as Lu	mp Sum	onno	Unit Pri	ice Ext	Amount	LL Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(A	SPHALT RE	PAIR (MEC	HANICAL) (ΓN				
	E711 11241 PLASTIC, STANDA , SKIP, 6"	ARD,	1,400.000 LF	1.	42000	1,988.00	50.00000	70,000.00	1.70000) 2,380.00
	0001 ASPHALT RE (MECHANICAL		ion Totals:		\$	418,376.68		\$466,642.80		\$596,085.81

Contract Grand Totals: \$418,376.68 \$466,642.80 596,085.81



Tabulation of Bids							Page 8 of 8
Letting:	04241101	November 01, 2024	Call Order:	005	Contract:	E4X65-R0	
		120.57(3), Florid	la Statutes, or fai	lure to post the	escribed in section bond or other security a bond shall constitute		

a waiver of proceedings under chapter 120, Florida Statutes.